2t
t?+a

t?—a

2t
2 +a

2t2

2 +a)

log(z +

@

fRESS | ER | EfE

BB

i

£1[H

(60 /)




(z+y)

Y

O

fRESS | ER | EfE

BB

i

52
(40 1)




®

®

15

15

fRESS | ER | EfE

BB

i

E Ry

(55 1)

=40
(45 &)




BEES | MEES Ef# &
® y= 5o’ te
® y = tan(z + ¢)
@ y=logx+c
5 5 [
43 Y |
(50 /'xj_f';) @ y=e€
® y=1/1—(z—1)2
© y' +2y=0
@ y:cosx—kisin\@x
V2
® ' + 4 + 3y = 6062
HEEE | MEES Ef# &
® y=cie ** + coxe” ™
® (+1) BTG OB TR
© 0
Vasasd 6
6 ® 0
(50 &)
® 2
© 0
© 0
© 0
© L5 L 1A




FEES | HEES kx| Ef# s5E
5 1 ® X2
5 1 O X
5 1 © W B
e 5
= 7 g @ JL 725
(50 #2) 10 | © 0
5 | © 0
51 @ 1
5 1 © 0
5 | @ 2
BEES | HEES kx| Ef# &%
1 n
7| 32
1 n
NG pep I
=1
. 1 n
% 8 i 10 | @ n i
(50 #) SNF /1
5 | @ 2 G
40
5 | © 310
100
5| @ 310
40
5| © 30
6 | @ 2

32




